3129.00.00.000-04 KIC
Karanor aeraneit 1 cCOOpOYHBIX €TMHUII

Cb4/®-500.LB75T

380 B, 50 I'y

10 Gap

32




11. | 4251100202

Kitanman npenoxpanuTenbHbINA

1
12. | 3101.00.00.201 [TepexonHuK 1
13. |3101.00.00.203 3arnynika 2
14. | 4141401600 MaHomeTp 1
15. | 3140.00.00.048 3arnymnika 1
16. | 4271000203 AMopTH3aTOp 4
17. [Ma#i6a 12 4
18. bont M10x25 4
19. | 3129.00.00.120 [Tnatdhopma 2
20. | 4490000000 TpyOka Rilsan 2
21. l"alixa M6 1
22. [ITa#i6a 6 2
23. [ITa#i6a 6, 65T 1
24. 14121001000 KonnencatoorBoqunk 1
25. | 3005.00.00.000-07 Pecusep 1
26. | 3106.00.00.021 [lepexoaHuk 1
27. | 4023430020 biiok nopmiHeBoit 2
28. | 3129.00.00.200 BoznyxomnpoBog 2
29. | 4242133102 Krnanan oOpaTHbIi 2
30. 4111334000 Kpan 1
31. boat M10x55 8
32. | 4871402590 [TpoBoJ 2
33. | 4381003500 Ykazarenb 2
34. | 3128.00.00.103 Jlepxatenb 2
35. | 4350010002 Pacnopka 2
36. | 4350020002 3amenka 12
37. bont M6x16 10
38. [ITait0a 6x18 10
39. |3106.00.00.500-01 OcHoBanue 2
40. |3106.00.00.600 Kpsimika 2
41. |4160900600 Coenunenne 1
42. |3115.00.00.000 [TyapT ynpaBieHus 1

3129.00.00.000-04 KAC CB4/®-500.LB75T | 380 B, 50 [ | 10 Gap
Karanor aeraneit 1 cCOOpOYHBIX €TMHUII
ITo3. | Kox. Ne 4yepre:ka HaumeHoBaHue Ko
1. 4042100500 DneKTpoaBurareib, 5,5 kBt 2
2. 4301106300 Pemens A1600 4
3. 3129.00.00.104 [IxuB 2
4. 3106.00.00.101 [Tpmwxum 2
5. [ITa#i6a 10.65T 18
6. boat M10x20 2
7. Bboatr M10x30 20
8. [1aii6a 10 48
9. I"aiika M10 20
10. |4992122076 [Tpeccoctar MDR?2 1




